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She is wearing a blue shirt and a red skirt.
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G: What is he wearing?

B: He is wearing
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(D He is wearing glasses.

@ He has short curly hair.

@ He has long straight hair.
@ He is wearing a red T-shirt.
(& He is wearing green pants.
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| Jiho: Look! She's my sister, Jia.

Yuna: What does she like?
Jiho: She is tall. She has short curly hair.
Yuna: What is she ?

Ryan: She is wearing a blue skirt.

A: What does she like?

B: She has long curly
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1 see - waiting @ look - wearing
@ see - wearing @ look - waiting
® meet - waiting
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